C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

1.

10.

11.

12.

13.

14.

15.

16.

17.

18.

19.

20.

21.

22.

GENERAL NOTES:

THESE INSTALLATION INSTRUCTIONS ARE PART OF A PRODUCT APPROVAL
EVALUATION AND SHALL ONLY BE USED IN CONJUNCTION WITH THE

L.017"

EVALUATION REPORT SUBMITTED FOR THE SAME PRODUCT APPROVAL.

3.682"

THIS SYSTEM HAS BEEN TESTED AND EVALUATED IN ACCORDANCE WITH
THE FLORIDA BUILDING CODE SEVENTH EDITION (2020), FOR USE
OUTSIDE THE HIGH VELOCITY HURRICANE ZONE, AND THE

B64L" 1.791"

a3

INTERNATIONAL BUILDING CODE (IBC) AND INTERNATIONAL RESIDENTIAL
CODE (IRC). THIS SYSTEM MEETS MISSILE LEVEL "D" AND INCLUDES
WIND WIND ZONE 4 AS DEFINED IN ASTM E1996. SEE EVALUATION

COLONIAL SHUTTER

132"

@ 348"

100" %\‘

075"
R.062"
060"

PATENT #8126298

1.200"

500"

REPORT FOR MORE INFORMATION.
POSITIVE AND NEGATIVE DESIGN PRESSURES CALCULATED FOR USE WITH

L

—.080"

S

1.380"
1.200

1040"

N

:

326" =
425"

369" —

THIS SYSTEM SHALL BE DETERMINED PER SEPARATE ENGINEERING IN

|, 1318"

1.875"

ACCORDANCE WITH THE GOVERNING CODE. PRESSURE REQUIREMENTS
SHALL BE LESS THAN OR EQUAL TO THE POSITIVE OR NEGATIVE DESIGN 1
PRESSURE CAPACITY VALUES LISTED HEREIN FOR ANY ASSEMBLY AS

SHOWN.

TESTING WAS CONDUCTED IN ACCORDANCE WITH TAS 201/202/203 AND

ASTM E1886/E1996/E330.

THIS SYSTEM HAS BEEN DESIGNED WITH NO SEPARATION FROM GLAZING

REQUIRED FOR WIND ZONES 1-3, IN ACCORDANCE WITH ASTM E1996. IT

IS ACCEPTABLE BY CODE UNLESS OPTIONAL CRITERIA IS INDEPENDENTLY

ADOPTED BY THE AUTHORITY HAVING JURISDICTION.

DESIGN PRESSURES NOTED HEREIN ARE BASED ON MAXIMUM TESTED

PRESSURES DIVIDED BY A 1.5 SAFETY FACTOR.

NO INCREASE IN ALLOWABLE STRESS HAS BEEN USED IN THE DESIGN OF

THESE PRODUCTS. WIND LOAD DURATION FACTOR Cd = 1.6 WAS USED

FOR WOOD ANCHOR DESIGN.

DETERMINE THE POSITIVE AND NEGATIVE DESIGN LOADS TO USE WHEN
REFERENCING THESE DOCUMENTS IN ACCORDANCE WITH THE

GOVERNING CODE AND GOVERNING WIND VELOCITY. FOR WIND LOAD
CALCULATIONS IN ACCORDANCE WITH ASCE 7, A DIRECTIONALITY

FACTOR OF Kd =0.85 SHALL BE USED.

THE SYSTEM DETAILED HEREIN IS GENERIC AND DOES NOT PROVIDE

INFORMATION FOR A SPECIFIC SITE.

PERMIT HOLDER SHALL VERIFY THE ADEQUACY OF THE EXISTING

STRUCTURE TO WITHSTAND SUPERIMPOSED LOADS.

ANCHORS SHALL BE INSTALLED PER MANUFACTURER RECOMMENDATIONS.

MINIMUM EMBEDMENT AND EDGE DISTANCE EXCLUDES STUCCO, FOAM,

BRICK, AND OTHER WALL FINISHES.

USE OF THESE APPROVAL DOCUMENTS SHALL COMPLY WITH CHAPTER

61G15 OF THE FLORIDA ADMINISTRATIVE CODE. ENEEN
THESE APPROVAL DOCUMENTS ARE SUITABLE TO BE APPLIED BY THE
CONTRACTOR PROVIDED THE CONTRACTOR DOES NOT DEVIATE FROM
THE CONDITIONS DETAILED HEREIN AND THE CONTRACTOR VERIFIES
THAT THE EXISTING STRUCTURE DOES NOT DEVIATE IN EITHER FORM OR
MATERIAL FROM THE STRUCTURAL SUBSTRATES DETAILED HEREIN.

ANY MODIFICATIONS OR ADDITIONS TO THESE APPROVAL DOCUMENTS
WILL VOID THE APPROVAL DOCUMENTS.

EACH SHUTTER ASSEMBLY SHALL BE PERMANENTLY LABELED WITH THE

2.190
2.000"

MUNTIN

SCALE: HALF SIZE

3.875"

JAMB

SCALE: HALF SIZE

— 145"

1.510"

2.521"

4120

4.510"

WALL HINGE

SCALE: HALF SIZE

750" |,

1.621"

1.410"

\

1.590"

HEADER / SILL

A

S

JEEER

JAMB SNAP

SCALE: HALF SIZE

055"

2.755"

2L5"

2.365"

R

SCALE: HALF SIZE

245”/

FLAT HINGE

2.280"

3.000"

188" =

20007 |

£

N
938" L
2.142"

938"

@4" CENTER CLIP
SCALE HALF SIZE

SCALE: HALF SIZE

1606 1

000", 3.000"

L 3.000"

,1.000"

190"
TYP

1.375"

625"

FOLLOWING MINIMUM INFORMATION:

TOWN & COUNTRY INDUSTRIES N
FORT LAUDERDALE, FL
9 LB MISSILE LEVEL D - ASTM E1886, E1996 & E330
TAS 201, 202 & 203
FLORIDA PRODUCT APPROVAL NUMBER

ALL EXTRUSIONS SHOWN SHALL BE 6063-T6 ALUMINUM ALLOY, U.O.N.,
WITH A MINIMUM Fy OF 25 K.S.I.

ALL BOLTS AND WASHERS (EXCLUDING INSTALLATION) SHALL BE
STAINLESS STEEL WITH A MINIMUM TENSILE STRENGTH OF 60 K.S.I.,
U.O.N. POP RIVETS SHALL BE 1/4"@ OR 3/16"@ 5052 ALUM. ALLOY.
MAXIMUM ALLOWABLE DESIGN PRESSURE IN CLOSED POSITION
PROVIDING WIND LOAD & IMPACT RESISTANCE = +57.2/-66.2 PSF FOR
ALL SHUTTER SYSTEM CONFIGURATIONS SHOWN HEREIN.

MAXIMUM ALLOWABLE DESIGN PRESSURE IN OPEN POSITION = +/- 28
PSF.

THIS SHUTTER SYSTEM SHALL NOT BE INSTALLED IN ESSENTIAL
FACILITIES AS DEFINED IN ASTM E1996.

SHUTTER ASSEMBLY MUST BE CLOSED AND SECURED AND SHALL NOT BE
LEFT IN THE OPEN POSITION IN THE EVENT OF A WIND STORM EVENT.
ALL STEEL IN CONTACT WITH ALUMINUM SHALL BE PAINTED OR PLATED.

HURRICANE PROTECTION

4.190"

2.000"

1.606"

8.000"

1.796"

ewa]l

1.000" ), 3.000" L

3.000"

,1.000"

2.190
2.000"

, 190"
TYP

1.375"

525"

1606" 8.000"

ANGLE
SCALE HALF SIZE

1.796"

|
S |

"Z" BAR - PROFILE & LAYOUT
SCALE HALF SIZE

LOCKING
FLARED END

L-PIN - 1/4" &

2.500" |,

080"
TYP

1.188"

EQ

EQ

@
)
I[

S
N

(1-ANCHOR)

080" —

—. 145"

1.200"
/

COLONIAL BLADE

Digitl
signe
Frani
.- Benn
Date;,
2021

055"

R12.796"
Ki13.851"

FRANK BENNARDO, PE
IPE# 0046549 CA#9885

i
by o EEI\’IMH"

\

R.081"

R.250"

SCALE: HALF SIZE

1957

3.875"

&

1125”7 |,

145"

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

2.625"

R 245”\

3.015" MAX

4120

4510

e BUILD-OUT WALL HINGE
SCALE: HALF SIZE

4 190"

750", 3.000"

, 750"

1.375"

625"

4.500"

FL16219.1

ADivision of ABC Suoply Co.. Inc.

Wholesale Aluminum and Building Products
400 WEST MCNAB ROAD
FT. LAUDERDALE, FL 33309

Town“Country

12/20/12
4/16/15
9/28/16
8/07/17
6/24/20

@ 4-1/2""7" BAR - PROFILE
SCALE HALF SIZE

RWN

& MORE INFORMATION ABOUT THIS DOCUMENT

VISIT ECALC.I0/26168

FOR SITE SPECIFIC DEVIATIONS

OR SCAN THIS QR CODE

VISIT ENGINEERINGEXPRESS.COM/STORE

FOR ADDITIONAL PLANS, REPORTS & RESOURCES

DRWN|CHKD | DATE
FLB
RWN |FLB

RWN |FLB
CB

KL
RWN [TSB

., 16257,

@.270"

1.188"

, 75

;i

?75 g

SCALE

HALF SIZE

(2-ANCHOR)

"C" CLIPS

1o To|

1)

SCALE

HALF SIZE

SECTION A

2.0
1.188"

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE

REV - ADD 4" BLADE

REMARKS
INIT ISSUE
2014 FBC
2017 FBC
2020 FBC

COPYRIGHT FRANK L. BENNARDO P.E.

,1.07 TO,,

20-26168

1207

SCALE: - | -

PAGE DESCRIPTION:

Af— 112"

OF

]




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

Pz o007 ¥ COLONIAL SHUTTER
LN
&
%ww 1.000" 2500"
b b OR SEE Z-BAR ANCHOR SCHED. FOR OR SEE Z-BAR ANCHOR SCHED. FOR
R g) g) . Zaon CONNECTION TO EXIST. STRUCTURE, TYP - N CONNECTION TO EXIST, STRUCTURE, TYP
5 ) ~vnax ,DETAILK E FORALL Z-BARS ~mnax ,DETAIL KE DETAIL m FORALL Z-BARS
2 = — 5 —ORKI1 q — 7 —ORK1 OR M1 —
N 2 / o \\ g ,/ b \\ Af.L‘
O—% O R I A t—ep) e
[1N) p / — —
Gl S N NG s
zz 0
I T N <, X Do X po
00 ALT. CENTER CLIP (1/8" THICK) = @@\ i o = i - | -
[THRNTN) . n .
S35 SCALE HALF SIZE : - .00 : - - 3.00
it n % MAX 0n % DETAIL L MAX
" ~ v _ ~ ’ -
=0 0.128" = (e)or P =0 FACH SIDE |  (6)oR P OR 4aﬁ‘i N =0 D) EACH SIDE
% 0.307" = (®) > OF CENTER & (®) OF CENTER
%% 20 152_050"] 10,3(’)7252 I T } :LJ: / Ej 1 ZL: | - LINE I T } :\\ i ,\ Ej ] :L: | - CNE
IENTE .155" r0.402" z z
> o . < 1N\ t “ 1] ‘£
SS - G Yo = [ —DETAIL L Gl oy = —
" " (@) — (@]
© m 20.105 \RO.lOO x| O OR 4a x| O
" L B Ll O
1.792" ——¢ -R0.050" - ® N N - © N N
2118 f nr W | I v nr:w I I v
i) 1 1 D 1 1
2" BAHAMA BLADE T 43 7| &%
SCALE: HALF SIZE 0.260" I vl 3
ALT. HINGE PIN R0.081"~  [0.050" [0-521 J — = J - = o
SCALE: HALF SIZE N * N . f
S ___—_—= . R0.100" 1 — ey
‘ R0.050" 8.50" ] \@ ;‘\.OR 850" ] \@ \—}\_.OR
‘ 3.663" MAX, G} Yp@ MAX, G} YP@
‘ 4.000" 34007 MAX. 34.00" MAX. 34007 MAX. 34.00" MAX. 34.00" MAX.
100, 1708000 4" BAHAMA BLADE
096 "
195" 11 £ S[ALE e SHUTTER WIDTH = 68.00" MAX SHUTTER WIDTH = 102.00" MAX
Y ST AINLESS STEEL TYPICAL ELEVATION 2 PANELS e TYPICAL ELEVATION 3 PANELS
P ASSEMBLY SCALE 1/2" = 7-0 SCALE 1/27 =17-0
8 o 3209 HOLE
062" 530" g ©| 0
1.069” . o NYLON
1.250" | 1.200" 0 WHEEL
‘ 1100 S0
PANEL TRACK ROLLER ASSEMBLY (100R SEE Z-BAR ANCHOR SCHED. FOR
SCALE: HALF SIZE SCALE: HALF SIZE 850" TYP EORNELTION 19 EXIST STRUCTURE, Tre
M vax , DETAILK DETAIL M 3 4 )
O SEE 7-BAR ANCHOR SCHED. FOR X orRK1  F=Al ORMT N -
. TP CONNECTION TO EXIST. STRUCTURE, TYP a ~7 e ) ‘ |
~nw , DETAILK DETAIL M @X E[p FORALL Z-BARS i [ ] 1]
- ORKI f—AoRM1 - F——] N —
/ S D - I~
b S ] X
NG S - T (2) ANCHORS REQ'D AT EACH WALL HINGE. < P2 P
T SEE WALL HINGE ANCHOR SCHED. FOR b I . 4 I . 4 3.00"
X - _ CONNECTION TO EXIST. STRUCTURE i o % T BETALL L A
205) p2 P1 OR _OR 4a g,\ﬁimaﬁ — EACH SIDE
= I A e I I 3.00” o W‘\ F2pr > OF CENTER
0 —DETAIL L MAX Y — 1 e L] LINE
. @OR\ :OR4aF2i 3\;@@&' — EACH SIDE - r - 3
o . £ L LA o oF E‘ENNETER 4 ‘ — | BEAM, SEE BEAM SCHED. BEAM
. — v N — ¢ vl o 1/4-20 S5 MACHINE SCREW INTO 1/4 - 78, /MAY BE USED AT TOP OR BOTTOM,
< 1 t @l i ALUMINUM RIV-NUT AT EACH VERTICAL OR BOTH
o — —_— | o
wl o o X DETAIL Q
o > 20 1«
L T T o5 — /F\\/
S N S g o= Ao
SIS 4 I | v i \m); y
Hloo= - R
K . 5 N ;E
J [ £ = o 850" | @_/ \_@
N . o Jo o MA X J}
550 — — — 34L.00" MAX 34007 MAX 34007 MAX 34007 MAX
MAX OO ap (90R(Y i
. . . e SHUTTER WIDTH = 136.00" MAX
34007 MAX 34007 MAX 34 00" MAX 34.00" MAX
4
. BEAM SPAN
SHUTTER WIDTH = 136.00" MAX

TYPICAL ELEVATION 4 PANELS

SCALE: /2" = 1'-0"

TYPICAL ELEVATION WITH BEAM (2, 3, OR 4 PANELS)

SCALE: 1/2" = 1"-0"

FRANK BENNARDO, PE
PE# 0046549

CA#9885

Wi,
1,
ENN %,

\

=X

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106

DEERFIELD BEACH, FL 33442

(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM

ENGINEERINGEXPRESS.COM

n‘ INDUSTR]ES’J
Wholesale Aluminum and Building Products

ADivision of ABC Suoply Co.. Inc.

400 WEST MCNAB ROAD

FT. LAUDERDALE, FL 33309

FL16219.1

12/20/12
4/16/15
9/28/16
8/07/17
6/24/20

FLB

RWN

DRWN|CHKD | DATE

KL
RWN [TSB

RWN |FLB

RWN [FLB
CB

REMARKS
INIT ISSUE
2014 FBC

REV - ADD 4" BLADE

2017 FBC
2020 FBC

THIS DOCUMENT IS THE PROPERTY OF FRANK L. BENNARDO, P.E AND SHALL NOT BE

REPRODUCED IN WHOLE OR PART WITHOUT WRITTEN CONSENT OF FRANK L.
BENNARDO, P.E. ** ALTERATIONS, ADDITIONS, HIGHLIGHTING, OR OTHER MARKINGS
TO THIS DOCUMENT ARE NOT PERMITTED AND INVALIDATE OUR CERTIFICATION.

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE:

PAGE DESCRIPTION:

OF




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

SEE Z-BAR ANCHOR SCHEDULE FOR
CONNECTION TO EXISTING STRUCTURE

C @D

: ASSEMBLY SCREW SHALL BE #10 x 2"
v HWH 410 HT. STAINLESS STEEL SCREW
XYLON COATING OR EQUIV

(s

INSTALLATION OF BLADES MAY BE
/REVERSED

TYPICAL TOP WALL MOUNT

SCALE: 3" = 1"-0"

P

(4

3

(3) 3/16"® STAINLESS STEEL POP

T7/16"0 x 3-1/2" LONG
STAINLESS STEEL BOLT
(1Y WITHNYLON LOCK NUT OR

= ALTERNATE ALUMINUM PIN
(PART # 16)

TYPICAL PANEL HINGE CONNECTION

SCALE: 3" = 1-0"

TP

T

SURFACE

RAMSARAIALY

EDGE
DIST

|

RIVETS OR (2) 1/4"¢ 5052 ALUMINUM
POP RIVETS, TYP. EACH SIDE OF HINGE

TYP

yy

=

ALL MOUNT

BANDING SHALL BE STUCCO OVER
CONCRETE, HOLLOW CONCRETE BLOCK OR
WOOD TO PROVIDE SOLID BEARING

SEE Z-BAR ANCHOR SCHEDULE FOR
CONNECTION TO EXISTING STRUCTURE

o0

ASSEMBLY SCREW SHALL BE #10 x 2"
HWH 410 HT. STAINLESS STEEL SCREW
XYLON COATING OR EQUIV

INSTALLATION OF BLADES MAY BE
/REVERSED

ALTERNATE TOP
SCALE 37 =T~

(@)

BLADES

BLADE DETAIL

NOTE: BLADES MAY BE
COLONIAL BLADES OR
ARTICULATING BLADES
COLONIAL BLADES SHOWN ON TYP
THIS PAGE. SEE SHEET 4 FOR
TYPICAL ARTICULATING

1/4-20 ALUMINUM RIV-NUT

LIP CONNECTION

EBDGE

DIST

Vi

C
0

INSTALLATION OF BLADES MAY BE
/REVERSED

hy
#14x1" STAINLESS STEEL SMS FLAT

HEAD OR ROUND HEAD

TYPICAL BOTTOM WALL MOUNT

SCALE: 3" = 1-0"

(4) 1/4-20x1" MACHINE SCREW INTO

(O A

ALTERNATE BLADE
SCALE 37 =71-0"

TYP

ALTERNATE WALL MOUNT

INSTALLATION OF BLADES MAY BE
/REVERSED

MUNT\N%REPLA[ES ANY (2) COLONIAL

)

X(z) #1Lx1" SS SMS

FASTENING MUNTIN
EACH SIDE

INSTALLATION OF
’/BLADES MAY BE
REVERSED

(L) 1/4-20 RIV-NUTS

#MXW” STAINLESS STEEL SMS FLAT
HEAD OR ROUND HEAD

SCALE: 3" = 1-0"

INSTALLATION OF BLADES MAY BE
/REVERSED

1/4-20 S.S. MACHINE SCR
ALUMINUM RIV-NUT AT E

TYP. ‘

I

6.00"

ALT

—Ur
— |

\BEAM, SEE

BEAM SCHED

(3) 3/16"® STAINLESS ST
RIVETS OR (2) 1/4"¢ 505
POP RIVETS, TYP. EACH {

9

12.00" MAX

7/16"® x 3-1/2" LONG

STAINLESS STEEL BOLT
WITH NYLON LOCK NUT OR

ERNATE ALUMINUM PIN
(PART # 16)

(2)-#12x1/2" SMS

/@ (OUTSIDE)

FRANK BENNARDO, PE
PE# 0046549 CA#9885

N BENA,

aTE OF

01/07/20%4; SSIONA\,‘%\\

7
s

X
\ » i <
- >

o 1-1/L"MAX. x 1-1/2"MAX.

PER HINGE
EW INTO 1/L-20
ACH VERTICAL
aQ
w
m
N~ >
w
N

EEL POP
P ALUMINUM

x0.062 MIN. ALUMINUM
| ANGLE (CONT)
| 8063 TS ALLOY

EDGE
1 Doist

SIDE CLOSURE DETAIL

IDE OF HINGE

SCALE: 3" =

0"

%

4"x1-1/2"MAX. x0.062 MIN
ALUMINUM ANGLE (CONT.)

6063 T5 ALLOY

25"
J MAX
.

4

N

i}; (7) TYELCAL TRAP MOUNT
: SCALE: 3"

=1-0"

(OUTSIDE)

1-1/2"
/%

1/ 4"
MAX

-

3/4"

" /EMBED

DIST

:
‘

5" MAX x1-1/2" x0.062 MIN
ALUMINUM ANGLE (CONT.)
6063 TS5 ALLOY

ANY ANCHOR PER ANY

"/ EMBED

EDGE
DIST

SCALE: 3" = 1"-0"

@ ALTERNATE SIDE CLOSURE DETAIL

3/16" 5052 ALUMINUM POP
RIVETS @ 24" 0.C. MAX

1/L"
MAX

(OUTSIDE)
|

i

TYP

\S’MAX x0.062 MIN

ALUMINUM PLATE (CONT.)

ANCHOR SCHEDULE AT 24" 0.C

@ SLIDING PANEL SIDE CLOSURE DETAIL
NTS

6063 T5 ALLOY

SLIDING PANEL SIDE ALTERNATE CLOSURE DETAIL

N.T.S

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

-
o)}
Rl
I
©
i
i
b .
wws
ks i
‘Hfsg
¥98 3 o
g = g a i)
wlts o
@22 O m
=D_g“5 X ™
o2 s m 4
-M< Z -
- 0OY
s =<
l_
‘ e x
L\/’gg mg
)& &
2 383
o < 7.
3 g G
@
EQ °
-
;

N W o
wlo~o )
EISI=ISIZ|S] | 5228
< Q|3 =5 zZx8k
Si-jdoly EEEL
SIS TEaE
= 252k
a 2z0¢
[
X moonZ 2253
T8 n = Sow
™ —'—‘m 8ozx
O ||| gzE3
s 252
AN J5z2
o|l|x|x|X|o £34%
FEok
L=EL
S5g82
SEQE
ET gt
.
a Saoe2
o =
< Fozk
@ gEES
o 5=z2g
2] = 25: 2
X w o B Hui 3
K oolalolo gg“&g
| @D <|m|@ 35¢
7o) TS Rl T T SeR2
E:<r>l\o RS
Bzlglziglg| |27g°
X Z & & T 8

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:

OF




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

7/16"® x 3-1/2" LONG
STAINLESS STEEL BOLT
WITH NYLON LOCK NUT OR
ALTERNATE ALUMINUM PIN
(PART # 16)

iEO”
(&) or \\

L () <
o 2

D

(2) ANCHORS REQUIRED AT EACH WALL
HINGE. SEE WALL HINGE ANCHOR
SCHEDULE FOR CONNECTION TO
EXISTING HOST STRUCTURE

(3)3/16"® STAINLESS STEEL
POP RIVETS OR (2) 1/4"9
5052 ALUMINUM POP RIVETS,
TYP. EACH SIDE OF HINGE

ALTERNATE ALUMINUM PIN,
6" LONG (PART # 16)

50" 50"

y —. 625"

\
J

¥

50" 50"
J/ g 625"
I N
ALTERNATE ALUMINUM PIN, &4
5 6" LONG [PART # 16) \ A
(@] o
" ‘ 2 <
o "
I

(&) or \

iEO”

LA

(2) 5/16" ITW TAPCONS AT EACH WALL HINGE

TYPICAL WALL HINGE

SCALE: 3" = 1-0"

WALL HINGE ANCHOR

SCHEDULE: o

TO 3192 PSI MIN. CONCRETE:

e 1/4" ITW SS TAPCON W/ 13" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE.

#10 x 2" HWH 410 HT.
STAINLESS STEEL SCREW
XYLON COATING OR

EQUIV. WITH %" NYLON
— END CAP & SPACER, TYP.

e 5/16" ITW TAPCON XL W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE.

TO GROUT-FILLED CONCRETE BLOCK:

Fflzé"44
TYP

e 1/4" DEWALT ULTRACON W/ 2-1/4"
MIN. EMBEDMENT AND 2-1/2" MIN. —
EDGE DISTANCE.

e 5/16" ITW TAPCON XL W/ 1-3/4"
MIN. EMBEDMENT AND 4" MIN. EDGE
DISTANCE.

BH1

TYPICAL 2" ARTICULATING LOUVER ATTACHMENT

ALTERNATE STACKED WALL HINGE

POP RIVETS OR (2) 1/4"9
5052 ALUMINUM POP RIVETS,

I

|

|

|

|

=

| (3) 3/16"® STAINLESS STEEL
1 TYP. EACH SIDE OF HINGE

THIRD HOLE LOCATION FOR : N\ O

I

RIVET ™~ |
\\(\ ‘

|

l

(3) 3/16"@® STAINLESS STEEL
POP RIVETS OR (2) 1/4"®
5052 ALUMINUM POP RIVETS,
TYP. EACH SIDE OF HINGE

ALTERNATE STACKED PANEL HINGE

SCALE: 3" = 1"=-0"

?

v

TO G=0.42 MIN. WOOD HOST CALE

STRUCTURE:

e 1/4" LAG SCREWS WITH 1-1/2"
MIN. THREAD PENETRATION AND 3/4"
MIN. EDGE DISTANCE.

e #14 WOOD SCREW OR SMS W/
1-1/2" MIN. THREAD PENETRATION
AND 3/4" MIN. EDGE DISTANCE.

(3) 3/16"® STAINLESS STEEL

(OUTSIDE) POP RIVETS OR (2) 1/4"®
5052 ALUMINUM POP RIVETS,
SOLID SIDE TYP.EACH SIDE OF HINGE

08/11/2020 - 9:58pm

\LOUVERED SIDE

(INSIDE)
@ TYPICAL PANEL HINGE CONNECTION

SCALE: 3" = 1-0"

N.T.S

#10 x 2" HWH 410 HT.
STAINLESS STEEL SCREW
XYLON COATING OR
EQUIV. WITH %" NYLON

| END CAP & SPACER, TYP.

TYPICAL 4" ARTICULATING LOUVER ATTACHMENT

BH2 SCALE: N.T.S

(OUTSIDE) /@

SOLID SIDE
/ 8

!

o

LOUVERED SIDE

(INSIDE)

@ TYPICAL CENTER CLIP CONNECTION
SCALE: 37" =1-0"

SCALE: 3" = 1"-0"

7/16"¢ x 3-1/2" LONG
STAINLESS STEEL BOLT WITH
NYLON LOCK NUT OR
ALTERNATE ALUMINUM PIN
(PART # 16)

(L) 1/4-20x1" MACHINE SCREW INTO
1/4:-20 ALUMINUM RIV-NUT

,  L.oo” L

1|/ :—62

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

aTE OF

01/07/20%4; SSIONA\,‘%\\

7
s

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

N
1 i 2 N O L O
S@ 0 ) =
938" g (3) 3/16"¢ STAINLESS STEEL | ) O "
" POP RIVETS OR (2) 1/4"®
. " 2 5052 ALUMINUM POP RIVETS —
625 7& 738 625 TYP. EACH SIDE OF HINGE o
TYPICAL CENTER CLIP TYPICAL PANEL HINGE

SCALE: 3" = 1-0"

(INSIDE)

SOLID SIDE

(OUTSIDE)

\ \ T
LOUVERED SIDE

(OUTSIDE)

() 1/4-20x1" MACHINE SCREW INTO

(INSIDE) 1/4-20 ALUMINUM RIV-NUT

SLIDING PANEL OFFSET CLIP

SCALE: 3" = 1-0"

(L) 1/4-20x1" MACHINE
SCREW INTO 1/4-20
ALUMINUM RIV-NUT

@ ALTERNATE CENTER CLIP CONNECTION
SCALE: 37

=1-0" N.T.S

—
(o))
i
o~
©
i
1
o
— © 2 ¢
=ifies
mn-L)(M
@2 Om
=D_g“s X ™
a3 & m 1
- < =Z ur
o O 5
s =<
‘ E = o
Q/"gg ﬂ%
o JE =S
< oi
s T .
s tc
i 3
@
EQ 2
=
;

Nlw|o|~|o ]
Wi C e 523
ESlsIalRlF ok
<|QIS|DE|F Zgek

N-ld|lolN 423
0N F s o6 ES-

—|Y|@|©|© HufE

gBEd
ZES
gmmmmz §852
a29
IS n(a32| |sseuw
O |- ||| EzES
= 2ES2
2| zlz|z| | |33
AR JeT2
alk|x|x|z|o £34%
225
FEoa
LEEL
5582
>&<f
Ecga
=
w £o59
a =
< Togw
) wI W<
o £23%
z
. wZEE
e pd =N

w a S@uyz
Z|ololalo|lo 58
gD 0| |D|m 5889

Dl || 815%
="\« S|~ afisF
weE =gl o Zo
X = x| && A

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:

OF

9

&




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

MAX. (2) 1/4"x3"x3-3/L" 6063-T6
ALUMINUM HINGE PLATES TO ADJUST

HINGE DEPTH

08/11/2020 - 9:58pm

50"
IMAX
I =

“/EMBED

EDGE
DIST

TYPICAL WALL HINGE CONNECTION

(OUTSIDE) o

SOLID SIDE

LOUVERED SIDE
e /

(OUTSIDE)

(OUTSIDE)

/75

SOLID SIDE

!

: % \ i T
| LOUVERED SIDE \

(INSIDE)

HINGE AND HINGE PLATES TO PROVIDE
MAX.1/4" GAP BETWEEN SHUTTER
AND STUCLO OR WOOD BANDING

2) ANCHORS REQ'D AT EACH WALL HING
SEE WALL HINGE ANCHOR SCHED. FOR
CONNECTION TO EXIST. STRUCTURE

ALTERNATE WALL HINGE CONNECTION

MAX. 1/4" GAP BETWEEN SHUTTER
AND STUCLO OR WOOD BANDING

(2) ANCHORS REQ'D AT EACH WALL HINGE
SEE WALL HINGE ANCHOR SCHED. FOR
CONNECTION TO EXIST. STRUCTURE

\

(INSIDE)

(OUTSIDE)

LOUVERED SIDE
50"
& /

LOUVERED SIDE

HINGE AND HINGE PLATES TO PROVIDE
MAX.1/L" GAP BETWEEN SHUTTER
AND STUCCO OR WOOD BANDING

(2) ANCHORS REQ'D AT EACH WALL HINGE.

\ |
SOLID SIDE

(INSIDE)

:'&H\NGE AND HINGE PLATES TO PROVIDE
MAX.1/4" GAP BETWEEN SHUTTER
AND STUCCO OR WODOD BANDING

L FDGE
1 DIST

SEE WALL HINGE ANCHOR SCHED. FOR
CONNECTION TO EXIST. STRUCTURE

ALTERNATE WALL HINGE CONNECTION

SCALE: 3" = 1"-0"

SCALE: 3" = 1"-0"

i
o
i
o
i
-
USE 2X4X1/4 ANGLE FOR 3" & 4”7 BEAMS, b -
o USE 2X5X1/4 ANGLE FOR 5" BEAMS. 1/4-20'S.S. MACHINE SCREW INTO 1/4-20 0o g
50/@‘%FTHBEMA‘NM , TYP TOP AND BOTTOM OF BEAM ALUMINUM RIV-NUT AT EACH VERTICAL JAMB - Sy wyg 8

L 500" ©8% n o
CL BOLT wls I @
1600" CL ANGLES = -2 28
BEAM SCHEDULE ' | oo2i gz
g 757 MIN . \ z3: I
WALL BRACKET ANCHOR TYPES /% 2 ¢ 2

«
SHUTTER| BEAM | CONCRETE | HOLLOW WOOD ’ EQ
BEAM SIZE | ( S o
SPAN SPAN (3323 PSI | CONCRETE | (G=0.42 D 2 i
MIN) BLOCK MIN.) é JE =85
T o S5 o«
| 8175 6'-0 AB,C A B,C B,C <z o3
P | e 6-8" AB,C AB,C B,C ~ 75" / g 2 Y

(6063-T6) 510" 7-0" A B,C A B,C B,C \ &

8-1.75" 75" A B,C A C B,C & BEAM, SEE @ Q ©
2"x4"x1/8" 68" g1 AB.C AC B C BEAM SCHED ANCHOR =
(6063-T6) 3 ) r ’ ’ H SPECIFICATIONS

510" 8'-6" AB,C A B,C B,C

8-1.75" 8-8" A, B, C AC B,C EMBED <, BEAM SPAN 0
2'x5"x1/8 6'-8" 95" A B,C A C B,C (=(1) 7/16"% MACHINE [BOLT WITH
(6063-T6) | oyor | guqqw AB.C A C B.C (2) ANCHORS REQUIRED EACH 1 g~ LOCKNUT EDGE DISTANCE

8-175" | 11-3" | AB,C c B.C AN e b DA SCEDULE i 3.00" C SEE BEAM SCHEDULE Solella] ¢ 5.
2"x4"x1/4" 6-8" 129" AB,C c B.C (SIDE VIEW) (FRONT VIEW) ANCHOR SPECIFICATIONS HRENNREEE
(6061-T6) 10 L a|a5/S5 88 |FE:e

510 12'-6 A, B, C AC B.C TYPICAL WALL BRACKET CONNECTION DETAIL (CONCRETE & HOLLOW SIGCICINE

SCALE: 37 = 1-0" CONCRETE BLOCK] P 2| | 2558
I|9\33(82] |s5et
ANCHOR TYPES FOR USE WITH BEAM - 0o SlEl-liciel 8255
SCHEDULE, (4) ANCHORS PER BEAM END Y " 1/4-20 .S MACHINE SCREW INTO 1/4-20 zl 2|zl a3t
A. 1/4" ALL POINTS SOLID-SET ANCHORS 1 oL anotes ALUMINUMERIVENDT AT EALT VERTICAL JAMS X228 5.8
FOR CONCRETE: 7/8" MIN. EMBEDMENT, 3" MIN. EDGE R | L soLT E%%E
DISTANCE, AND 3" MIN. SPACING. @ EEoE
FOR HOLLOW CONCRETE BLOCK: 7/8" MIN. EMBEDMENT, 3" T w 5
MIN. EDGE DISTANCE, AND 3" MIN. SPACING. \ = yIEZ
2| |3 Tt
B. 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT é@ £(3)q18|g|g| 2348
MALE/FEMALE PANELMATE IS
FOR CONCRETE: 2" MIN. EMBEDMENT, 3" MIN. EDGE HEEEEEREEE
DISTANCE, AND 3" MIN. SPACING. 2X4X1 /4 ANCLE OR 2X5X1/4 ANGLE. COPYRIGHT FRANK L. BENNARDO P.E.
FOR HOLLOW CONCRETE BLOCK: 1-1/4" MIN. EMBEDMENT, 75 ] @® 6063-T6 ALUMINUM ANGLE, TYP. TOP 20 26168
3" MIN. EDGE DISTANCE, AND 3" MIN. SPACING. AND BOTTOM OF BEAM -
FOR WOOD: 1-7/8" MIN. EMBEDMENT. 3/4" MIN. EDGE ScALE ] -
" BEAM SPAN ——— : -
DISTANCE, 1.5" MIN. SPACING. N oA CE DESCRIPTION:
C. 1/4"ITW TAPCON SG i
FRONT VIEW EDGE DISTANCE .
FOR CONCRETE: 1-3/4" MIN. EMBEDMENT, 2-1/2" MIN. EDGE ( (WOOD) ) R SEE BEAM SCHEDULE
DISTANCE, 3" MIN. SPACING. v ANCHOR SPECIFIATIONS OF@
FOR HOLLOW CONCRETE BLOCK: 1-1/4" MIN. EMBEDMENT,
2-1/2" MIN. EDGE DISTANCE, 3" MIN. SPACING.
FOR WOOD: 1-1/2" MIN. EMBEDMENT, 3/4" MIN. EDGE
DISTANCE, 1.5" MIN. SPACING. )

SCALE: 3" = 1"-0"

@ ALTERNATE WALL HINGE CONNECTION
SCALE: 37 = 177=0"

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

g,
v “,
W BENA, 7,

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

COLONIAL SHUTTER

CLOSED POSITION

‘g ) PLANVIEW
SCALE: 1-1/2" = 1-0"
>

Q?fﬁ?fﬂ‘w ‘
@jﬁ;ﬁ&ﬁ i 3
| | |
%ééL ng LLsgs

}i ~ |

EEST r
) \
!
L

1 z’ﬂw

l,slé;{—;J

SEE SHEET 9 FOR ALL PLAN VIEW
INSTALLATION POSITIONS

(2) #14x1" STAINLESS

PLATE 0.090"x1"x3-1/2" WITH (2]

1/L"¢ RIV-NUTS (TOP & BOTTOM

OF PANELS)

il

e

PLAN VIEW 2
SCALE: 1-1/2" = 1-0"

ALVVAEANAR A

Z-BAR ANCHOR SCHEDULE:

TO 3350 PSI MIN. CONCRETE:

e 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT
MALE/FEMALE PANELMATE W/ 2" MIN. EMBEDMENT AND
2-1/2" MIN. EDGE DISTANCE

e 1/4" ITW TAPCON SG W/ 1- 3/4" MIN. EMBEDMENT AND
2-1/2" MIN. EDGE DISTANCE.

e 1/4" ALL-POINTS SOLID SET W/ 7/8" MIN. EMBEDMENT
AND 2" MIN. EDGE DISTANCE.

TO HOLLOW CONCRETE BLOCK:

e 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT
MALE/FEMALE PANELMATE W/ 1-1/4" MIN. EMBEDMENT AND
2" MIN. EDGE DISTANCE.

e 1/4" ITW TAPCON SG W/ 1-1/4" MIN. EMBEDMENT AND
2-1/2" MIN. EDGE DISTANCE.

e 1/4" ALL-POINTS SOLID SET W/ 7/8" MIN. EMBEDMENT
AND 2" MIN. EDGE DISTANCE

TO G=0.42 MIN. WOOD HOST STRUCTURE:

e 1/4" HANGER BOLT WITH 1-1/2" MIN. THREAD
PENETRATION AND 3/4" MIN. EDGE DISTANCE.

e 1/4" EYEWALL ARMOR MALE BOLT OR DEWALT
MALE/FEMALE PANELMATE W/ 1-7/8" MIN. EMBEDMENT AND
3/4" MIN. EDGE DISTANCE.

e 1/4" ITW TAPCON SG W/ 1-1/2" MIN. EMBEDMENT AND
3/4" MIN. EDGE DISTANCE.

NOTE: USE (3) ANCHORS PER 8" Z BAR AND
(2) PER 4.5" Z BAR

CLOSED POSITION

d STEEL SMS
(|
ety
ARTATARERAARRAAARATAA AN B
A )Y :jt
(1)5/16"¢ ITW TAPCON XL ﬂ (2) #14x1" STAINLESS
OR (2) 1/4"® ITW TAPCON 5 - STEEL SMS
OR (2) 1/4"® SHEET METAL SCREW L\ @
OR (2) 1/4"® LAG SCREW D L]
SEE ANCHOR SCHED. FOR MIN
EMBED. & EDGE DIST ﬁgi
N <Um
_N L=
D N S
(2) #14x1" STAINLESS (1) 5/16"® \”TW TAPCON XL JL

© STEEL SMS OR (2) 1/4"® 1TW TAPCON

@ B OR (2) 1/4"® SHEET METAL SCREW

L] OR (2) 1/4"® LAG SCREW

SEE ANCHOR SCHED. FOR MIN

5 | E) EMBED. & EDGE DIST

] m————1 (F

_N Lo

(1)5/16"® ITW TAPCON XL

OR (2) 1/4"® ITW TAPCON

OR (2) 1/4"® SHEET METAL SCREW
OR (2) 1/4"9 LAG SCREW

SEE ANCHOR SCHED. FOR MIN.
EMBED. & EDGE DIST

OPEN POSITION LOCK
ANCHOR SCHEDULE:

WITH "C" CLIPS OR DOUBLE "C" CLIPS:

TO 2899 PSI MIN. CONCRETE:
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 2" MIN. EDGE DISTANCE.

TO 3192 PSI MIN. CONCRETE:
e (2) 1/4" ITW SS TAPCON W/ 1-3/4" MIN.
EMBEDMENT AND 1" MIN. EDGE DISTANCE.

TO HOLLOW CONCRETE BLOCK:
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE DISTANCE.

TO G=0.42 MIN. WOOD HOST STRUCTURE:
e (2) 1/4" WOOD SCREWS OR SHEET METAL SCREWS

EDGE DISTANCE.
e (2) 1/4" LAG SCREWS W/ 1-1/2" MIN. THREAD
PENETRATION AND 3/4" MIN. EDGE DISTANCE.

WITH BULLET CLIPS:

W/ 1-3/4" MIN. THREAD PENETRATION AND 3/4" MIN.

TO 3192 PSI MIN. CONCRETE:
e (1) 1/4" ITW SS TAPCON W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE DISTANCE.

TO HOLLOW CONCRETE BLOCK:
e (1) 5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE DISTANCE.

TO G=0.42 MIN. WOOD HOST STRUCTURE:
e (1) 1/4" WOOD SCREWS OR SHEET METAL SCREWS

W/ 1-3/4" MIN. THREAD PENETRATION AND 3/4" MIN.

EDGE DISTANCE.

(HINGES NOT SHOWN FOR CLARITY]
(DOUBLE "C" CLIP)

NOTE

CLIPS REQ'D TOP & BOTTOM FOR SPANS > 69". ONE CLIP REQ'D AT MID-SPAN (+3") FOR

SPANS < 69"

OPEN PQSITION LOCK W/ "C" CLIP
SCALE 3" =1-0"

(2) #14x1" STAINLESS
STEEL SMS

O
L1

vvvvv W

N

717/

(15/16"® ITW TAPCON XL
OR (1) 1/4"® ITW TAPCON

OR (1) 1/L"® WOOD SCREW
SEE ANCHOR SCHED. FOR MIN
EMBED. & EDGE DIST

NOTE
BULLET CLIPS SPACED 24" MAX
FROM ENDS AND 48" 0.C. MAX

OPEN POSITION LOCK W/ BULLET CLIP

FIo 1 [

SCALE: 3" = 1'-

(SINGLE "C" CLIP)

Cl-o0 15~ [ 1

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

-
o))
i
I
©
i
1
o
.
— © 2 ¢
<PIry:
mn-L)(M
@2 Om
=D_g“s X m
aBS & m
-0 < ZLJ
o O3
s =<
‘ E |_Df
Q/" 2 w%
o JE =S
< oi
P < .
s t
i 3
@
EQ 2
=
;

] W
w| | 2LITIR| 2.8z
EiSislelcls og§e
<925 |F ZEE%
QNiQQ Q =r=c

—|¥|®|®© | © i

cbis

o

8 z Lixs
X/ m|o|mm s 2253
ITIZ2ZIEE g3gw
O ||| £zE3
z SES2
F z|z|z fzzz
@=0=

A ES S £5=2
QlXx|xxx o £3g
223

FEod

CEEL

=

-H

EEsH

I HE85

[=) gukd

< Fogy

) wI W<

@ EE5C

= wZTG

2l Iz 2552

w =) Zon3d
X ooaelo 4329
|| D |0 @ aogg
s D) L SFET

T (s~ =g
wElsgl=sls o 3o
¥ Z 8 Q& £ B

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:

OF




. 1 . ui
\ WOD 'SSTAAXIDNIIIINIONS T'61291T4 60€€€ T4 "IvA¥3IANVT "1d NOLLYOI41L¥30 ¥NO LVITVANI ONY G3LLINY3A LON 34V INJNNOOA SIHL OL W ! o )
. SONDRIVI ¥3HLO HO "ONILHOITHIH ‘SNOLLIAQY ‘SNOILVHILTY .. ‘Td ‘OQHVNNIS — w
%% WOD’SSIUXIDONIYIINIONIOWYIL avod gVNOW 1LS3Im 00 151N 30 INISNOO NALLLISM NOHLIM Livd 4O JTOHI NI GI0N00NAZ W 0 3 ©
O,m mmmm.wmm\nwwwv | 0990-¥5€ (¥S6) a0 o0 KGEr 5@y 1o LSy 38 LON TIVHS ONY 3'd ‘OQNYNN3E "1 NV 30 ALM3ONd 3HL SI IN3WNDO SIHL s O m
L
8% : chpee 14 "HOVIE a1314433d spnpoud bupjing PUE LUnULLINIY Sleseioup & r.m_ B
20 3 90T 3LINS ‘IAV UIZT MS 09T SaINISNAN] 0z/vz9 | M| 80 o84 0z0e| 2 5
WEA ‘301440 31LVHOdd00 /11/20/8 g74] NMA 084 L10g) =< ﬂ_/_ x
wo 91/82/6 g74] NMd 3av79.7 4aV - AR = w
B 21 O |..la
WO SLOLY gaS1l| NMY 084 7102 wlw o\ E w
MM p ZL/oz/iel| 4914 ™ NSS! LINIY rAu m
na 31va | GMHO|NMya syavinaa |8 wlal . .
LHDIFH T3INVd DNIAITS XVIW ., L6
U M %]
[ Ll
o> =
7 &
(VT -
N : Z =
=~ =
ma =) ~ _
—
% ")
o X = =
A ]| 123 {5
— N @) > =W LIHDIIH 1INV DNIAITS XVIW L6
p = o AVn _
U w|<
.z — |
=< v
L ®
v X
z <<
A
NI
)
7_3 Z
[
M
L L o X
A I & 15
- _ — - m = &) > nb
p. [ > . L
o) U w =
N M i Z M
3 uginn n o
1HDIIH T3INVd DNIAITS XVIW L6 v m
] il
x A
l ~E < ==
e z4 ==
48 oz =i
o X 2 1T 72 =
z < < 0O I w =1
oz = 2 Z w
e W — ~ < —1Y
7 [m | ma v
U [
z - b
~
Mmoo M
<C
[a )
S
o X = |
A I 122 = aw=z _j
- > 2 Zz O W<
= || N o —_ m<ca g
> 0 > o w O = wn
S N o~ X0 % <
L
4] N a FIE o
u = = n N = [}
a ~ < = ~ Z
I m << Xy 2D Z praDIY]
i o OwkFo < -
S [am] < _H 0= o, w
| 2 2E3F B
| \ TN ¢ FoEG 92 %
| | ] L] = 25ho oqa
. T ] o
4 _ X — ] Zxz - =
Lo o | < - M [oXe) % M [
s )< - > = w=z S}
e X Z Y
= - - =1 90 = w = z
w = w© — o =|w Zz= oy T
oo _AM < S << | n O @] el
w o & W < | H M Z0
R T oo m —1|Y " m ]
: \ LI - iy
o O / ERERY = i
O > T ] bl ok
O = / Y, %1“ 7
) S~y o
O Nv / 7 LIHDIIH 1INV DNIAITTS XVIW ., L6
(X 5o
o >
0 =
- _ 5 X
z <
o >
o
U)W
LIHODIIH 1INV DNIAITTS XVIW L6 N =
[
Mo
Z <<
g X } _ ot _\ >
zd = [ e ==
o> S Wl
= I M z
U w q T ~ <
N M j A ma o
~
el R o
U o] ] =
TTF y =
(] )
O X s | ~F < o
A _ 125 o= =
L as - = a
= o 3 = @ = Wl A
L] — oy g v D\,
# s = =N ST .z <Y
oY ] Lz < 22l gl o< -
a /ﬁ [ o Y oo Mo =\~
T Ma 1) [ o~
/ =
| L) | = 3 5
: N —_— W)
J ] p B FC ~ > z <« H 5
il A I o8
(s || 4 x N ol
s)d ~ | > = U w
== | < ADn Z
L = ~
W I~ = w m M
<8R oo — m =
AR N e~ v
NI > Nl
[ - =
« -1 o e m s
< =
o= X Lot . | <<
o we If — o —
o g8 c o
N | ®
. P m L L]
oo/ -
S > e —Zi a5
o\ Y, @Wﬂ\‘
g o
Ly~ &) Nv /7

6.00
TYP

BMp'OMA - 1'61291 714 - P8ILIZ-02\08H 0Z02\dM\PHAAH J8INYS [eIuojod MBIAIINS - L6129 T4 - 891.92-02\s108l0id\sjuawnoo( - uoionpoid\sseidx3 Buliesulbug\usomsiesn\:O uxou wdgg:6 - 0202/1 1/80




S S S S
ANCHORS PER
"LEG oUT™

2xLx0.125
ALUMINMUM
ANGLE

E 14"

ALTERNATE LEG
DIRECTION

20 MACHINE SCREW W/
NUTAT 12" 0.C, TYP

IR

ANCHORS PER
"LEG IN”
SLIDING PANEL
TRACK ANCHOR
SCHEDULE

T

C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

R

WHEEL CARRIAGE
ASSEMBLY AT 3"
FROM EACH END AND
10.25 " 0.C., TYP

N—1/4-20 RIVNUT
AT EACH WHEEL

CARRIAGE

TYP

@(”

SLIDING PANEL TOP TRACK

SCALE: N.T.S

7 " ANCHORS PER/

/

"LEG IN

7 SLIDING PANEL

Z TRACK ANCHOR”,
SCHEDUL

N,

e TYP.
TP N i
L 1/4-20 RIVNUT
AT EACH WHEEL
% CARRIAGE
T ] ]
o = — == —
w
72 2x4x0.125
S ALUMINMUM
o 1 1 5 ANGLE
J. [ 171 [T ]
I S
WHEEL
| jﬂ CARRIAGE

"LEG IN" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HOST
STRUCTURE

SLIDING PANEL VERTICAL SPAN

ANCHOR

36"

48"

60"

7"

84"

97"

CONCRETE

1/4" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

(3192 PSI MIN.)

1/4" DEWALT ULTRACON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

CONCRETE
(3500 PSI MIN.)

1/4" MILLENIUM MILLFAST W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

16" O.C.

13" 0.C.

11" O.C.

9" 0.C.

8" 0.C.

7" 0.C.

1/4" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE
DISTANCE

15" 0.C.

12" 0.C.

9" 0.C.

8" 0.C.

7" 0.C.

6" O.C.

HOLLOW
CONCRETE
BLOCK

1/4" DEWALT ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2" MIN.
EDGE DISTANCE

16" O.C.

13" 0.C.

10" O.C.

8" 0.C.

7" 0O.C.

6" O.C.

5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE
DISTANCE.

16" O.C.

16" O.C.

15" 0.C.

13" 0.C.

11" O.C.

9" 0.C.

5/16" DEWALT ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 3-1/8" MIN.
EDGE DISTANCE

16" O.C.

16" O.C.

16" O.C.

14" O.C.

12" 0.C.

10" O.C.

WOOD (G=0.42

1/4" LAG SCREW W/ 1-1/2" MIN.
EMBEDMENT AND 3/4" MIN. EDGE
DISTANCE

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

MIN.)

#14 SMS OR WOOD SCREW W/ 1-1/2"

MIN. EMBEDMENT AND 3/4" MIN.
EDGE DISTANCE.

16" O.C.

16" O.C.

16" O.C.

16" O.C.

15" O.C.

13" 0.C.

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND

SLIDING PANEL VERTICAL SPANS FOR "LEG IN" CONDITION. ANCHORS SHALL BE LOCATED 2" MAX
FROM TRACK ENDS.
*ALL MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

1/4"-20 MACHINE
E SCREW W/ NUTAT
1270, TYP

ASSEMBLY AT

3" FROM EACH
END AND 10.25 "

0.C, TYP.

ALTERNATE LEG

DIRECTION

SLIDING PANEL BOTTOM TRACK

SCALE: N.T.S

SLIDING PANELS CLIPPED
TOGETHER IN LOCKED POSITION

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

I
1,
E. ’,

WHEEL CARRIAGE, TYP.

AT SLIDING PANEL LOCKING EDGE,
PROVIDE 1/4-20 BOLT AND NUT IN FRONT
OF WHEEL CARRIAGE. BOLT SHALL GO
THROUGH ANGLE AND TRACK TO HOLD
PANELS STATIONARY IN CLOSED POSITION.

1"x1"x0.062" MIN.
ALUMINUM ANGLE,
FASTENED TO
PANEL WITH 3/16"
5052 ALUMINUM
POP RIVETS @ 24"

0.C. MAX

WHEEL CARRIAGE STOPS FOR SLIDING PANELS

SCALE: N.T.S.

WITH ANGLES

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

1"x0.062" MIN. ALUMINUM
PLATE, FASTENED TO PANEL
WITH 3/16" 5052 ALUMINUM
POP RIVETS @ 24" 0.C. MAX

WITH PLATES

SLIDING PANEL INTERLOCK

SCALE: N.T.S

"LEG OUT" SLIDING PANEL TRACK ANCHOR SCHEDULE:

HoST SLIDING PANEL VERTICAL SPAN
ANCHOR
STRUCTURE 36" 28" 60" 72" 84" o7
1/4" ITW SS TAPCONS W/ 1-3/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 16" O.C. | 13"0.C. | 10"0.C. | 9"0.C. | 7"0.C. | 6" 0O.C.
CONCRETE DISTANCE
(3192 PSIMIN.) | 1/4" DEWALT ULTRACON W/ 1-3/4"
MIN. EMBEDMENT AND 2-1/2" MIN. | 16"0.C. | 16" 0.C. | 13"0.C. | 11"0.C. | 9"0.Cc. | 8"O.C.
EDGE DISTANCE
CONCRETE | V4" MILLENIUM MILLFAST W/ 134" | ] ] ] ] ]
(3500 PSI MIN.) | MIN. EMBEDMENT AND 2-1/2" MIN. | 16"OC. | 13"0.C. | 10"0.C. | 9"0C. | 7"0C. | 6"0C.
EDGE DISTANCE
1/4" MILLENIUM MILLFAST W/ 1-1/4"
MIN. EMBEDMENT AND 2-1/2"MIN. | 7"0.C. | 5"0.C. | 4"0O.C.
EDGE DISTANCE
1/4" ITW SS TAPCONS W/ 1-1/4" MIN.
EMBEDMENT AND 2-1/2" MIN. EDGE | 6"0.C. | 4"0.C. | 4"0.C. | 3"0.C. | 3"'0.C.
DISTANCE
HOLLOW 1/4" DEWALT ULTRACON W/ 1-1/4"
CONCRETE | MIN. EMBEDMENT AND 2-1/2"MIN. | 6"0.C. | 5"O0.C. | 4"0.C. | 3"0.C. | 3"O.C.
BLOCK EDGE DISTANCE
5/16" ITW TAPCON XL W/ 1-3/4" MIN.
EMBEDMENT AND 4" MIN. EDGE | 10"0.C. | 7"0.C. | 6"0.C. | 5"0.C. | 4"0.Cc. | 4"0O.C.
DISTANCE.
5/16" DEWALT ULTRACON W/ 1-1/4"
MIN. EMBEDMENT AND 3-1/8" MIN. | 10"0.C. | 8"0.C. | 6"0O.C.
EDGE DISTANCE
1/4" LAG SCREW W/ 1-1/2" MIN.
EMBEDMENT AND 3/4" MIN. EDGE | 16" O.C. | 14"0.C. | 11"0.C. | 10"0.C. | 8"0.C. | 7"0.C.
WOOD (G=0.42 DISTANCE
MIN.) #14 SMS OR WOOD SCREW W/ 1-1/2"
MIN. EMBEDMENT AND 3/4" MIN. | 13"0.C. | 10"0.C. | 8"0.C. | 70.C. | 6'0.Cc. | 5 0.C.
EDGE DISTANCE.

NOTES: TABLE PROVIDES MAXIMUM ANCHOR SPACING FOR INDICATED ANCHOR TYPES AND
SLIDING PANEL VERTICAL SPANS FOR ALTERNATE "LEG OUT" CONDITION. ANCHORS SHALL BE
LOCATED 2" MAX FROM TRACK ENDS.
*ALL MILLENIUM MILLFAST SCREWS SHALL HAVE T&C ULTRACOTE

—
o))
i
o~
©
i
1
e
oy =3 8
%8 g o)
=D o
mn-o<m
@2 Om
=D_g“s X m
a8 & m 1
-0 < ZI.IJ\
o O 5
s =<
l_
‘ E x
g Bt
< oj
s T .
s tc
i 3
@
EQ 2
=
;

N W @
0N O~ o @
W< oo 523
IR ogge
<G| ST gk
olQTISIZIS] | 828
S |f|o|0|© W5§E

a51E

a - 2z0¢
o

Xm0 mm 22053

IS n|d32| |sgew

Ol | ||| 2222

z SESS

s |zizlz

a2 22 | J5T2

a|¥|x|x|xX|o £39%

gcod

EEEL

5582

Eash

2.

= £928

a wE

< TosH

— wI W<

@ T3

2 % ez g

w o EWuis

€22/88/g| |2::8

|9 < 398

D | T ggee

E._<r>l\o afhsFE

EslglEgizlg |2°g°

KZ R xS £ oo

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: - | -

PAGE DESCRIPTION:

OF

S




C:\Users\rickn\Engineering Express\Production - Documents\Projects\20-26168 - FL16219.1 - FullView Colonial Shutter Hybrid\WP\2020 FBC\20-26168d - FL16219.1 - DWG.dwg

rickn

08/11/2020 - 9:58pm

;i mr@%
I I

I .}
pti

A
il

— — PLATE 0.090"x1"x3-1/2" WITH (2) £
L Hon 1/4"® RIV-NUTS (TOP & BOTTOM
CLOSED POSITION o /DF PANELS)

>

N

PLAN VIEW 1
SCALE 1-1/27 =

T7-0"

PLAN VIEW 2
SCALE: 1-1/27 =

720"

CLOSED POSITION

PLAN VIEW 4
SCALE: 1-1/27 =

PLAN VIEW 5
SCALE: 1-1/27 = 7-0"

CLOSED POSITION
|| |

N\

PLAN VIEW 7

SCALE 1-1/2" = 1-0"

O~

o= m

i\\?i\/ﬁi}['
| 1 -

I, | P
~ -
FERES

U
\s2 T
petents,
=
I “‘

/‘2 ‘L?, :ﬁ“:: ==

e PLATE 0.090"x1"x3-1/2"
NS - |

/Y/ww (2) 174" RIV-NUTS
o, (TOP & BOTTOM OF PANELS)

TR T

PLAN VIEW 3

CLOSED POSITION

SCALE: 1=-1/2"

= 17-0"

PLATE 0.090"x1"x3-1/2" WITH (2)
1/4"¢ RIV-NUTS (TOP & BOTTOM
OF PANELS

)
0 e [T

PLAN VIEW 8

CLOSED POSITION

SCALE: 1=-1/2"

,,,,//,,/:;;H;:{(fgg‘
s T
L 4 \\r =L 2!
i B
/‘ 2 & /j\.,: —=- T

CLOSED POSITION

T

N

PLAN VIEW 6
SCALE 1-1/2" = 1-0"

= 70"

e

FRANK BENNARDO, PE \
PE# 0046549 CA#9885

CORPORATE OFFICE:
160 SW 12th AVE, SUITE 106
(954) 354-0660 | (866) 396-9999
TEAM@ENGINEERINGEXPRESS.COM
ENGINEERINGEXPRESS.COM

DEERFIELD BEACH, FL 33442

=X

—
o))
i
o~
©
i
1
e
oy =3 8
%8 g o)
=8z
mn-o<m
@2 Om
=D_g“s X m
a8 & m 1
-0 < ZI.IJ\
o O 5
s =<
l_
‘ E x
Q/"gg ﬂg
o~ =S
< oj
o < .
s tc
i 3
@
EQ 2
=
;

N
0N O~ o

EsSizizz|S
<|Qe |3 =T
QN(QQQ
NS |o|o|c
a
¥noon
I Sndas
O|L |||
z
2 |z|z|z
HANEIEIE
Qx| x| xHo

L

o

<

—

o
» :
X | Z
¥ olol8lolo
<R |o|< D@
EcL)u_ il ATy T
welTgES
Xz x| &K =

COPYRIGHT FRANK L. BENNARDO P.E.

20-26168

SCALE: | -

PAGE DESCRIPTION:

OF

9

S




		2021-01-07T09:57:11-0500
	Frank Bennardo




